PROFESSOR(A):
ALUNO(A):
DATA:

Tabuada do 1

1=l l=] |
2 -1 ]=] |
(3] -J1]=] |
L4l -J1]=] |
s -l1]=] |
6] -Jl1]=] |
7 -l1l=] |
8| -l1]=] |
Lo -J1]=] |
w0l -l1l=] |
Tabuada do 4
4] -lal=] |
(s|-]4]=] |
6] -1al=]
7] -lal=] |
8| -]4]|=] |
o] -lal=] |
(w0 -Jal=] |
1| -J4f=] |
(2] -Ja]=] |
13 -Jal=] |
Tabuada do 7
7 l-l7zl=] |
sl-Jzl=] |
o) -Jzl=0] |
w0|-J71=] |
| -Jz]=] |
2 -J7 =] |
1Bl -J7l=] |
4|7 =] |
5 -7 =] |
6| -f70=] |

TABUADA DA SUBTRACAO

Tabuada do 2
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[S, IS, RINS, RIKTS, WINS, RIET, RINS, HIKS, QNG |

Tabuada do 8

8 - 8 =

9 -8 =

10 -8 =

1 -8 =

12 -8 =

3-8 =

4 -8 =

15 -8 =

6 - 8 =

17 -8 =]
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Tabuada do 3

(3l-J3]=] |
la-13]=] |
(5] -J3]=] |
6| -/3]=]
7 -13]=]
18] -J3]=] |
Lol -J3]=] |
0| -13]=]
uf-J3]=] |
2l -|3)=0
Tabuada do 6
6/ -16/=] |
(7 ]-l6]=1 |
8/-16/=| |
o] -lel=] |
10/ - 6= |
-6/ =] |
2 -l6|=] |
(B3] -]6]=] |
4] -16/=] |
5] -Je6l=] |
Tabuada do 9
9 l-Jol=] |
0| -Jol=] |
uf-Jof=] |
2|-Jol=] |
13| -Jol=] |
14| -Jof=] |
15 -Jol=] |
6| -Jol=] |
7| -Jof=] |
18l -fol=] |




